A TS EING= I

H & 0l & AHS B Ml A

S HRE TAEE g
Chel: MD| E2H ALY (Shol: % 2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
A 57,429,598 51,688,981 5,740,617
= 969,620
== 208,188
Al 54,761,790
H 1,490,000
IRE SAIEE &4 32,697,836 28,084,046 4,613,790
= 969,620
= 183,917
Al 31,544,299
Ml SEM A 2,711,121 2,805,985 A94,864
= 869,620
= 30,000
Al 1,811,501
Ml SE € XEE SEM AL 703,816 743,816 40,000
201 er2 3| 303,816 323,816 /20,000
01 AtR2te|HI 303,816 323,816 /20,000
OMYDISE SF2ACIAAE R E24| 3,816
OHEmHDIS(EEHII2) Ml 300,000
206 MH=H| 400,000 420,000 /20,000
01 MHZHI 400,000 420,000 A20,000
OMIISE MH 400,000
SYHIIZ 2 162,465 436,065 A273,600
201 et23| 157,465 426,065 268,600
01 At22te|Hl 53,300 328,300 A275,000
OSgSI| Hgs v £ 3,000
OEgXIHIIZ HMel 30,000
OHIISAEE BAl=== 13,100
OHJIE H22ZAHMR 165)
200,000 *2004 A+ 13 4,000
o0& &4 (B0D2I 275)
350,000 x200 %13 7,000
oHJIE SYHIHE EAHSEHI)
700,000 32 2,100
OmlI2 g+ A2MF =257 200
OXgD| HHERE & SYHSI| Ak 8=2=
NES 5002 +4,0000HK 2,000
oMl S8SI| s+ & 208 M 5,000
02 35244l 104,165 97,765 6,400
O=ESI € HDIZ &2 SEXY S5 10,065
oV &lles € HIAMES
3,200,000& * 12& 38,400
OCCIV AtEZ 4,600,000& 123 55,200
OCCTV R AI24=H] 500
301 22N = 5,000 10,000 25,000
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Hu: BB A IA
el Ml SEM ALY (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
14 IIEt2 8= 5,000 10,000 /5,000
OsS-#SI| M1 23 5,000
ot M| =AY 86,000 100,000 14,000
= 60,200
Al 25,800
101 21A4H| 48,000 60,000 212,000
= 33,600
Al 14,400
M ORNZZ2NSE S 48,000 60,000 212,000
Otte 2RAD] =AHARA(2E8E 28 48,000
= 33,600
Al 14,400
201 Ler23| 38,000 40,000 22,000
= 26,600
Al 11,400
01 AtR2t2|HI 38,000 40,000 A2,000
Odtd 2RMDI(EEHDI2) Mel=+=8 38,000
= 26,600
Al 11,400
C=SdI0IE EH XFAY 1,618,840 1,401,360 217,480
= 809,420
Al 809,420
401 Al HIZL 201 1,618,840 1,401,360 217,480
= 809,420
Al 809,420
01 Al&H| 1,618,840 1,401,360 217,480
L==d0IE B NEAE 1,618,840
= 809,420
Al 809,420
SE dEMdD| € HDIE S84 HE 80,000 80,000 0
307 21201 & 80,000 80,000
05 git?(& = 80,000 80,000
OsgRetE Ml o 29 80,000
EBASENE SS700 0AE XA (HEAIY) 60,000 44,744 15,256
= 30,000
Al 30,000
405 AHatE = 60,000 44,744 15,256
= 30,000
Al 30,000
01 ML ESFSHI 60,000 44,744 15,256
OMIIRHER ZAERH 24,200
=S 12,100
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SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 12,100
O0ISE MIIRHER ZAEFH 36,800
== 17,900
Al 17,900
MEHIIZS 2 28,283,980 25,278,061 3,005,919
= 100,000
== 153,917
Al 28,030,063
MEHIIZ =&, 28, Ml At 27,319,880 24,087,744 3,232,136
101 e124d| 52,048 48,922 3,126
M ORINZZ2NSE S 52,048 48,922 3,126
OSFIIZ=AIE FHAS F2UZAIA
2,168,6402 «2E « 12 52,048
201 et23| 103,600 73,680 29,920
01 At22te|Hl 103,600 73,680 29,920
OLot Azt 271 HIIZ Hel)
103,4002!*1,000& 103,400
o8 FAI =1 HolE2 822 Al
200,000& %12 200
202 04l 33,600 31,920 1,680
01 2LHoIH 33,600 31,920 1,680
OMEHIISZ2 ¥ NAMEE A%z
1]l 140,000 «20E 123 33,600
206 MH=H| 15,000 16,627 A1,627
01 M=4l 15,000 16,627 A1,627
OJIZEAE MYDISE MH 15,000
301 22N = 960 960
4 JIE2 8= 960 960
Od&nDlIZE =&, 28 LM S8t
= 2=t 20,0003 8 *63] 960
307 elztol & 26,941,672 23,915,635 3,026,037
05 21t =S 26,941,672 23,915,635 3,026,037
OBSFY 47, 28 /=3 2,726,129
OMEHDIS £7, 26 U JI2HL SIS 17,370,517
QMBS 47, 28 U II2EA 9123
(E1&3) 308,581
O842: =H S A= 6,536,445
405 AtatE = 173,000 173,000
01 ML ESFSHI 173,000 173,000
OsAlg £JxE 7Y
173,000,000 1CH 173,000
gdsHolE XMl K& 132,000 160,000 /28,000
< 39,600
Al 92,400
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SA - ZE . BR(8) - HRAR - BES of v e HIDE2
201 er23 | 132,000 160,000 /28,000
= 39,600
Al 92,400
01 At2teltl 132,000 160,000 /28,000
OgsHJI= Xl 89 132,000
= 39,600
Al 92,400
MEHIIZE HNE HIEAE X A& 300,000 189,000 111,000
< 60,000
Al 240,000
401 Al HIZL S 0HYI 300,000 189,000 111,000
& 60,000
Al 240,000
01 Al&H| 300,000 189,000 111,000
OdEHIIZ HEUHSAIE & K&
15,000, 0002 *207H 300,000
= 60,000
Al 240,000
=SESY =1 & HMelAL 17,710 17,710 0
201 et 3| 17,710 17,710
01 At2t2l] 17,710 17,710
OS8E% +H Y H2IHIS
2,530,000& *7& 17,710
SAPIHE A2 == HH| XA 14,390 13,607 783
= 4,317
Al 10,073
301 LEtE N = 14,390 13,607 783
= 4,317
Al 10,073
4Bt 2as 14,390 13,607 783
Os¢elg =H2d= 14,390
== 4,317
Al 10,073
SEHHE =N24= XE 500,000 500,000 0
= 100,000
s 50,000
Al 350,000
301 22N = 500,000 500,000 0
= 100,000
= 50,000
Al 350,000
4Bt 2as 500,000 500,000 0
OsEZEHHIE +=H24= XE 500,000




Ret TAIEE T4
HEHI|Z 2l EER=E)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
= 100,000
T 50,000
Al 350,000
SAZ|IESH 2Y 1,702,735 0 1,702,735
|22lsY 29 X (BHHSE) 65,620 0 65,620
39 HES 62,520 0 62,520
01 BAt - SHIMNEZ 62,520 0 62,520
OZAl2e| 2 ZBAHEEZ 62,520
404 SAISHAIENMES 3,100 0 3,100
01 SAt - SHA2HEZ 3,100 0 3,100
OZAlZe| B A28 3,100
A28 29 X2 (AM2SHSHEH) 1,637,115 1,637,115
3N HES 1,544,265 1,544,265
01 SAt- SHINNZ=Z 1,544,265 1,544,265
OEAZ2|SEH BAEES 1,544,265
404 SMNSHA=ENES 92,850 92,850
01 SAt - SEHIIENMEZ2 92,850 92,850
OZAl2e| 2 IH2HEE3 92,850
NRATHEEE =X 13,166,949 12,430,632 736,317
T 24,271
Al 13,142,678
NENEE ZeltE s5& 8,405,806 7,644,610 761,196
= 24,271
Al 8,381,535
22E 2= 8,320,463 7,199,050 1,121,413
201 L2 AY| 47,879 16,019
01 AtR22eltl 39,99 14,579
OFYHEY R013|2D| 2g2teld| 21,600
O3 ZoliE &% 2L 822 ME 500
OUEHII= AEIH ME 7,000
ougmlI2 g ZH ==5 1,500
OFA0IA Al IISAE HUIA (20142
HE) 018 9,39
02 3324l 7,880 1,440
OMERAS| +HEH JIHEY =& 5,000
OFYHEY R3] Mg & Sz 2,880
307 2I2+01 ™ 8,081,744 7,047,190 1,034,554
05 CIZtAErZ 8,081,744 7,047,190 1,034,554
OMEBHIIS STSPHS, DINS) W ME
ANs|=HEH 2 8,081,744
308 AHXIHMSOIH 135,840 120,000 15,840
07 X SH2IRES 135,840 120,000 15,840




2A:

Hy: ANSE =X
Rl AREHEE 2eltiE =2 (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OHJISXM2RE= 135,840
405 KHaHF S| 55,000 55,000
01 ML ESF SHI 55,000 55,000
MET S| =HEH XAX 7L 55,000
SHHEY Rolg+)| &X K& 60,000 0 60,000
== 18,000
Al 42,000
405 KHaHE SH 60,000 0 60,000
< 18,000
Al 42,000
01 AL =S F=HI 60,000 0 60,000
OFZHEY R03+)| & 60,000
= 18,000
Al 42,000
OO A == H XA 4,440 4,440
201 er=2 3| 1,200 1,200
01 AtR2t2|HI 600 600
O0H0I A MEHES 7 600
2 Ss2g4l 600 600 0
Od=k AlZg & &g 600
301 EtE NS 3,240 3,240
14 JIEt2d=3 3,240 3,240
OO0t0| AT = B4 (QIMEIE) IR 3,240
MHeEs =80 H8Es NE 1,903 3,120 A1,217
= 571
Al 1,332
201 fer= 3| 1,903 3,120 A1,217
s 571
Al 1,332
01 At22t2l] 1,903 3,120 A1,217
oNgEs =8 AMES T2 1,903
< 571
Al 1,332
He88 =1 na=s A 19,000 20,000 21,000
= 5,700
Al 13,300
201 eer23y| 19,000 20,000 21,000
= 5,700
Al 13,300
01 AtR2tc|HI 19,000 20,000 21,000
ONEES =H ng=s N 19,000
== 5,700
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SN HATRID
33 Hol= Ardet
Gl AITHATIRME (HRIAIE) SXed (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
206 M=l 2,500 12,500 10,000
01 MHZH| 2,500 12,500 10,000
OUEE Dh4 24U BER X @5
= 2,500
308 AtXIEMSOIE 603,071 606,540 A\3,469
07 HXHH 2R 52 603,071 606,540 A3,469
OHPISXE2RE2 603,071
401 A2 HIRL R 0HbI 2,959,000 3,010,000 /51,000
Al 1,469,000
H 1,490,000
01 Al&HI 2,959,000 3,010,000 51,000
OMHATIZHE oS wWHSAH 2,935,000
Al 1,445,000
H 1,490,000
OUHEE 3HA Al Azl & 2=
8,000,000 *37H A 24,000
ATHATHRMH (A2AAE) X2 7,645,857 7,189,538 456,319
ATHMTHRME (A2AAIE)RERY 7,645,857 7,189,538 456,319
201 2= 30,550 30,550 0
02 S52g4l 30,550 30,550 0
OMHATZHE nEREFES 4,000
OMMHATRAMEH 24 ItA HHEA <10 26,550
301 LEtE N = 134,043 107,088 26,955
14 DBt 2 a3 134,043 107,088 26,955
OATHMTIRHIE FOIZAIQ LA 134,043
OEQIZAQY HE B
161,8582 x2EH*313L 101,324
0R2RY FYLY
161,858 x2& »52== 16,834
o727 UHHZ=RA 2Ry
161,858 x2&* 122 3,885
oAl E8= 500, 0002 x2E * 122 12,000
307 212+01& 7,346,264 6,902,400 443,864
05 2IZtAE = 7,346,264 6,902,400 443,864
OLIHAAEHE A2 7,346,264
401 AIZHIZL R0 135,000 90,000 45,000
01 Al&H| 135,000 90,000 45,000
o4t 2eHHsHH 3 X IAIAE
-5 130,000
O THAE X2 ME] F=HAIZZHI 5,000
HRES(FAXEM) 162,500 195,000 A32,500
WA XIE 162,500 195,000 232,500
WA XIE 162,500 195,000 A32,500
@R IIsdES 162,500 195,000 A32,500




SN BATRD
3 HeS(EaXEM)
=l WRAAXE EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
UIPIETSE—= 162,500 195,000 A32,500
OHJISXeIAE =Hges =aXa)|
= 162,500,000 12 162,500
HH2LSIH(H AR 27,484 27,460 24
J1I=288l 27,484 27,460 24
JI=23Hl 27,484 27,460 24
201 2egh=3| 21,044 23,260 N2,216
01 At22t2lt] 18,144 20,160 N2,016
O=AIEXN Fg 2,760
OIglH EU, &8 m((ge, 2d) 4,752
OJIEF AtR2t2I8I 10,632
02 s3=gHl 2,900 3,100 A200
OUPANF 258 RER3 400
OXtsxt 2 2(30H) 2,500
203 HR=H| 4,200 4,200
M A2 LRFEI 4,200 4,200
ORNEgg =AY 350,000& 12 4,200
405 Atats = 2,240 2,240
01 ML ESFSHI 2,240 2,240
OPC— g 1,120,000 *2CH 2,240




